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201 et 9| 1,920 1,920 0
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O 2024 2 BE5CH d8A=d AdE
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O NEM=XNANEHEE =8 2 Bt
10,000,000& * 14 10,000
OlALA R Ol & K& 20,000 0 20,000
301 LEEHZ 20,000 0 20,000
01 MEIBEZE %05z 20,000 0 20,000
O MR SEERZS 20,000,000 = 14l 20,000
ASISXAE(OI2) 2L 2,810,803 2,453,802 357,001
= 1,377,801
< 252,119
Al 1,180,883
A EX2 29 466,102 370,000 96,102




2A: Al

Ol A 2t X 2 It

g 88 sIAAMHA 78
Sl ASXALO2) 22

- _ _ RE]
SA BB (3H) - HRAY - B Ol At o8 ﬁ}lgﬁ HRE2
307 2iz2to| & 466,102 370,000 96,102
05 QIZ2tRE 2 466,102 0 466,102
[0 22AM3=EX2 9| 466,102
O el 431,102,000& = 14! 431,102
O 29| 35,000,000 = 14 35,000
HAQUANSE 29 1,796,310 1,763,147 33,163
= 1,257,417
& 161,668
Al 377,225
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O &4lH| 6,000& ~ 79 * 250 10,500
HAQUAILAUAAT O E XA 10,723 10,723 0
& 3,216
Al 7,507
307 2iztol & 10,723 10,723 0
& 3,216
Al 7,507
11T A EXAIEEX 10,723 10,723 0
[ BUQUAAILALAT 24 EF XA
10,723,000& = 14l 10,723
= 3,216
Al 7,507
ASIEEXAIE SAXGEE 67,200 67,200 0
= 20,160
Al 47,040
301 et A= 67,200 67,200 0
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O YUXOHAXNFAEH 9 &
4,500,000& = 1A 4,500
== 4,500
& X IO o XHKI & Al e (KA 60,000 60,000 0]
307 QI2t0| ™ 60,000 60,000 0
10 Al SEXNANEEHE2IH EX 60,000 60,000 0
O SXIOoHAKSEAEH 22|
60,000,000& * 1002 60,000
HUQUAE SALNEE 52,200 54,000 A 1,800
307 QI2t0| ™ 52,200 54,000 A 1,800
11T A EXAIEEX 52,200 54,000 A 1,800
O ANIESAKN SX=E 52,200
O wsd| 150,000€ = 12€ * 29" 52,200
ANSIEXAE XS 9,300 36,800 N 27,500
202 04| 9,000 9,000 0
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